O

= A A 74
T f& H O 5 B 0 &
K B B ()
HES
TEE UL
i (kL) ik TR I 0.8 1 m3
FREME Cofa bl
DID&HY 1=5.7kmPL F [#E L&ERHRED 0.8 1 m3
AHLEGIMT 15ecmPLl T
AsElizE ik TEER I 24.0 20 m
ElAERR AR
As ik TAERTZR LY 22 20 m2
WOE Asik
DID&HY 1.=6.0kmLL F |[#iE L&ERHRLY 0.9 1 m3
WLy
CollLry %
CREL RS [ LR R D 2.1 2t
AsiLGy 8
R RINE S I )] 2.1 2t
BT
PR
LY 0.66%21.0 13.8 10 m3
AR L
RC40-0 Xmkh 0.27%21.0 5.8 10 m3
WL
=7 — WD Bk 0.09%21.0 1.9 2 m3
b iE
DIDHY L=7.0kmLLF [(13.8-5.8-1.9)/0.9 6.7 10 m3
7 A
O 6.7 6.7 10 m3
IR T
Fm#E R
0.6%21.0 12.6 10 m?2
USRI
300%%300%2000 X LD 21.0 21 m
HiXE
UDAYw 230042000 |[(21.0)/2—3 8.0 8 &
EHERE
UDAU> 230042000 |[(21.0)/10 2.1 3 &
BREER R T 0y VR E
AFE MR ¥ A1=1000{16.2 16.2 16 m
BREER R T 0y VR E
AFEISS A BT ey 21.-600]0.6 0.6 1 m
BREER R T 0y VR E
AEMEL ‘BANTT2271=600]3.2 3.2 3 m
BREER R T 0y VR E
AREIFA BT A A7 22712600 | 3 3.0 3 m
URAIRE iy Sttt 27U — b
Mk 21.0 21.0 21 m
A WFEEB
3T 9 9 A-H
(1) L B ™




%

=. =
H OQ E=A

= oy A — N
T F H O 5 = N =
A T2 Gl Bh)
FEHH R E T
TE IR LRk B (T
C00.4m3 1 1 &7
TE R RRE AT
Rrgkdh H4.5m iElilEsE S 1 1 A
JEF R gt
HEIT kT 1 1 A
JEK IR SRt
EFTESEE HHERAT | T ESEEERRY.OKFE] 105 PRIAZS B350 1 1 &
BAHEE A RS (FEP) St
FEP ¢ 30 R s e HEIY) 20.2 20 m
BB r—T v
EMCE 3.5sq 34 (ZvhaAh) |BeE Bl i B st 2 10 20.9 21 m
WET
SRR BT
3.8%2+15%2 37.6 40 m
BRI
15%3.8 57 60 m2
ARIER AsiX
DIDHY L=6.0kmLL T [57.0%0.05 2.9 3 m3
A=
WLy Hy
Asiy 2.9%2.35 6.8 7t
+T
PRI
15%3.8%0.34+1.5%0.316+1%0.15%6+0.4%0.06%12 24.5 30 m3
D iE R
DID&HY L=7.0kmLLF [24.5 24.5 30 m3
el
24.5 24.5 30 m3
R 1
e
LB ESEE 0.3%0.7%(14.2+3.0) 3.6 4 m3
TE AL T
BA Koz vy [((15-0.8)+(3.8-0.8))/0.4 43.0 43 K
B AR T
B AT ) 1 1.0 1 K
B AR T
AR E 1 1.0 1 K
ZRmIUL%)
3.8-0.7+15 18.1 18 m
(2) BT




e = =
o &= F I
= refs A —
T f& H O i = o o=
R FRFEE RS
BEAR « BT —1 3.14+1.0 1.1 4 m
R FRFEE RS
BEAR - BT T —7° 1%2 2.0 2 m
AR T
NS
3.1%14.3-0.09%12 43.3 43 m?2
W EIHE t=15cm
43.3 43.3 43 m?2
FEEAET t=10cm
43.3 43.3 43" m?2
AR —ayF S T ay IR E
43.3 43.3 43" m?2
77 =Tl T
PN RF
EX-13925K2 6 6 6 A
NRUTRE TR
6 6 6 A
AT
6 6 A
IR—A 5 I
6 6 f& AT
e 3 YN
IN—TF
SP002B-EM-00-RK |1 1 1 A
T A
SRR
0.4%0.4%2 0.32 0.3 m?2
U
(0.3+0.3) *2:%0.3%2 1.1 1 m?2
= 7 —k
18-8-40-BB 0.3%0.3%0.3%2 0.054 0.05 m3
o _p SRR
— Bk
AT IR 170%1.0 i 1" m2
FEfE= 7Y — MR
(0.9+0.9) *2:0.45 1.6 2 m?2
= 7 —k
18-8-40-BB 0.9%0.9%0.45 0.36 0.4 m3
BLar 7)) — P
(1.0+1.0)*2%0.05 0.2 0.2 m?2
Bl 70—k
18-8-25-BB 1.0%1.0%0.05 0.05 0.05 m3
(3) BT




O A B S

= Yol M =,
T FE WO B =3 B =
AR (Bih)
BT
NS
MR 7L 0.6+0.6%21 25.9 25 m?2
HE
FIAEZRRT FEAS20F t=5cm |0.6%21 12.6 13 m?2
HE
FAEZRI FEASISFE t=3cm|0.6%21 12.6 13 m?2
RiEEE
SAIEHI 1H 3 3 AN-H

(4) EB®




